3. B#E

A SEEREPITRR

(BAL AN-9%)

LHAEEER SEEN
X % EEMITERAAB BRER
MEREIIERE:
KN ER L ibek B KR 1R =E SER25F TH30H mINE
BEEESTE =S TR265% 7H 68 EIRE
RSB REBRBRE ER275E 48248 \mINE
SHRMEEYES 285 TH108 |30,663(14,440|16,223|16,524| 7,734 8,790 53.89
AR AREEZAREA RS ERi28% 88 3R 344 203 141] 296 171 125| 86.05
RE BB RERRSE TR28% 9A27H EIRE
SHESL B REBRESE Tr284108 78 \mINE
ERRAMSME =S ER31E 4R78 EIRE
KNHEEHA— RS 314 48218 [29130]13,723(15407|17.267| 8.004| 9.263[0.5028
RNHRBEE 2410848 EIRE
ERRMERE SH3FE 48118 |28,527|13,426]15,101| 8,041| 3,726| 4,315 28.19
RBREBALRRE SFBEI0A31H [28,511]13,403(15,108(14,917| 7,053| 7,864| 52.32
BHEBERE RS SH1E TH218 |29,475/13,875/15,600|11,642| 5,555| 6,087/0.3950
ANFREEE— s SHM5EAR238  |27,317(12,876(14,441]|13,774| 6,416 7,358| 50.42
KRR SH6FEIA29H [26,848(12,605(14,243(16,324| 7,562 8,762| 60.80
RBREBALRRE SH6E10H278 |[26,977]12,659(41,318(14,106| 6,721| 7,385| 52.29
ERRMERE SHTE3IA23H  [26,671[12,500(14,171 8,254| 3,773| 4,481| 30.95
BH EXEERER
B. REREBEEZORERINEEH (B % ANE)
= %Ok A7 E ¥
£ % .y =
) B || E B i hv2 E| = | # B
X 4 1T = & X b = R ﬁ = 22} 2 &
b= B “ # 5 R R %ﬁ R R 3 5
A # E il ES ES o ES * ) =
B = %’E = = e ® ®
s s R6
REBEHER 5228 |14,104| 454| 944| 2,253| 1,284| 887| 215| 4,356( 2,573| 671
wEE 10.27
BH EXEERER
C. 2ERBEEFNRAMEHBEEFNSER (B %-A-E)
= \ " iR Al 5 = ]
% % %
a | & |2 |= |80 s |z | = s la | T la|ln|,|#
X i 17 = & & % b 7N X = B e X X < B = H '
& = “ = %ﬁ s BA 5 R R ) % # - R = K %
A # 23] A % % n x x ) - 3 Py Ed Ed - .
=} 5% e ;E = = = % % Y ) ) g
sgpnze = R4
BHEbER 4707 |13246| 76| 1.686| 530| 2060| 52| 1486 549| 432| 18| 427 12 |4950| 206| 254 12
RS 7.10

CEEAPIZIDERHRD/NMERLUTIEHVIETTLS,




